Reinforcement 2 m
o Circle.

1 Circle four adjectives in black. 3 Circle four clothes in blue.

2 Circle four verbs in red. 4 Circle four people in green.
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9 Read the answers. Then complete the questions.( man woman boy girl J

1 Is the &04? laughing? Yes, he is.

2 Isthe wearing a scarf? Mo, he isn't.
3 Isthe wearing a skirt? Yes, she is.

4 Isthe walking? Mo, she isn't.
5 Isthe wearing a jacket? No, he isn't.
6 Is the taking a photo? Yes, he is.

7 Is the wearing trousers? Yes, she is.

8 Isthe eating popcorn? No, she isn't.

0 Look and write.
1

Is he writing a note?

Yen, he in.

Is she eating popcorn?

Yes, she is. Yes, he is.



Reinforcement 2 m

( badminton rollerblading basketball ]
o Write the words in three groups. gymnastics karate skateboarding tennis swimming
badminton

9 Write the names.

1 Joe plays table tennis.

2 doesn't play badminton.

3 rides a bike.

4 does karate.

5 doesn't go rollerblading.

6 doesn't play tennis.

7 goes riding.

8 doesn't go swimming.

Lottie likes sport. She M badminton, Dennis doesn't like sport much.

she 2

3

&

rollerblading and she He ¢ volleyball and he
gymnastics. But Lottie 7 skateboarding. But Dennis
tennis and she 8 karate and he

5

swimming. ? basketball.




Reinforcement 2 m

(bus bike house lake motorbike mountain plane river town trqin)

o Look and write the words in two groups.

There'sa ... There isn'ta ...

loke

a Choose  the correct sentence.
1 There's a motorbike on this postcard.
There are some motorbikes on this postcard.

There aren't any motorbikes on this postcard.

2 There's a house on this postcard.
There are some houses on this postcard.

There aren't any houses on this postcard.

3 There's a tree on this postcard.
There are some trees on this postcard.

There aren't any trees on this postcard.

4 There's a boat on this postcard.
There are some boats on this postcard.

There aren't any boats on this postcard.

o Look and complete.

1 There _anem't  any badges. =2 a &

2 There some figures. '&ﬂ-‘
3 There some magnets. =
4 There any keyrings. :
5 There any postcards.

6

There any posters.



@ Find the words (=, ¥) and write.

Reinforcement 2 m
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1 Snake B is older than snake C. | wie 4 Tortoise A is bigger than tortoise C.

2 Snake Cis longer than snake B.
3 Snake A is shorter than snake B.

9 Look and write.

big

long

fast

slow

small

5 Tortoise C is younger than tortoise A.

6 Tortoise B is smaller than tortoise A.
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